MEVAANSHEDR I RE R/

108F1-12HEYHEIE

B E (B)

BRAS

108.1.4 TCPIRMRE 58 (5 ) He K (30kg)
#1,&(600ml)
= H(5L)
A F,(2000ml)
BER(XLx8R)
FERQXLx8R)
— HED
108.1.7 REEVNEESTZ 2,5&(500m])
7582 %L(2000ml)
R (1800g)
BEB(Mx15hK)
ARRM(L3 /)
REAR (200 x 10E])
108.1.7 HEE FEAR (100 x1289)
10817 |EBEXEEES K#9(2609)
108.1.9 oD BE RIEAR (1104 x 24 €))
108111 |5la% %,7(600ml)
N A HE (4kg)
108.1.14 |E=[UK H7K(30kg)
SR
108.1.16 |MiflE EREEE(L)
L
- BRekm(10kR)
108.1.16 |=ZEiR BRI (6F)
108.1.16 |ERARE FEAR (100 < 308))
2 EI(K)
108.1.16 |=EEFEmABRAE 2B (P)
BE()
L KR (A < ATH)
108.1.17 |=#HE 2 < 6(8)
108.1.17 |EE® #L2(400ml)

FI1H H£NH

=R (36-39cm)




IBREE (A

BREAS

108.1.17

ZRIRES

=R (39-43cm)

EWR(@47-51cm)

108.1.17

RRE

FIEAR (100 x 14E])

108.1.17

THE

KO 58 5. 58 5 58 2=

108.1.18

EES

YRR (4kg)

108.1.19

g I REARAT

#1,%(200ml)

#L&(300ml)

HBRER(K3A)

108.1.19

=ZO0AT

#L&(600ml)

#L,%(295ml)

108.1.23

AEEIER(113ml)

[1(200A)

FE(220gx3\)

1628 55(30009)

4TJERE(100g %3 \)

W5 (12kg)

s 4 4 (3% 5)

RIERR(L4/ x4E])

BIEHE(3"x10x)

PERBRE A2 (3800)

FiTEE R (22093 A)

& %4(30000)

5</0:(3000g)

=5 20¥(9000)

HERKYH(250mIx 24 A)

EiR kAR E(15gx58])

108.1.23

ERiadn

FIEAR (1003 x LOE))

108.1.28

EMERS(SL+1L)

[1=(50A)

#f(3"x3"x5A)

MiEAR(125A)

B2 ik (3kg)

W (2"x2"x10A)

IR EEK(20mIx60A)

F2H HENH




IBREA (D)

BREAS

108.1.28 | &z 3£ (30kg)
108.2.19 |E =04k H>K(30kg)
= o _ 2B EI(K)

108.2.22 |REEERARAT D)
S2(2560)

108.2.27 |&=HET BIHF(830ml)
g T(240q)
RIRER(/)N - 3%6)

108.3.4  |&h3540 HIIRES (D - 33)
RIRER(K - 3%6)

108.3.6 worthily JE#IRE BSKX

33 T bt s T 5 — *‘"HK(ZA)

108.3.6 EE%E TEAE AT BN

10836 |#BEE BRQA)

10836 |BEE aF( A)

108.3.6  |FERAARR ERRQ2A)

10836 |EE® EXQ2A)

108.3.6 &= 78 BA EE@

108.3.6 |EBRAR ZNE

108.3.6 |BBZF ZNE

108.3.6 FrHB1E RE

10836 |BDIE ZNE

108.3.6 MBE RE

108.3.6 ;Bffizziz ZNE

10836 |[HER RE

108.3.6 e R

108.3.6 A3 I

108.3.6 R RE AT ERQ2A)

108.3.6  |FhEE ERQA)

108.3.6 |=1RER ERQA)
i B(K)

108.3.8 SEEEmABRAT £ 51 ()
B/

108.3.20 |BHERARELE EE

FEIH HENH




HEA IBREE () BEAR
108.3.20 |E=IUEk H>R(30kg)
#ENEBA)
108321 |&=HET = #5(100g)
RES T (2409)
1822;2 EEI/L\/\IEJ’L\&IIJT‘LGEIEFHEHHPIZIFM\ %@Z
108.3.28 |=F# #AT] B (192gx6E2)
108.3.29 %ﬁﬁ% - MRENE - MBEEE ~ ARIN| 85T 85 (192g x 6 8I)
Gl #% 1 (800g)
108.4.1 ZFr & gx1]8%(759)
108.4.2 | /A N EIEETAEEEEI R gy )
10849 ;EI/L\/\IEJ’L\H:IIquTiEEIHEHHPIZIm&\ %@@
TEAGOON 248
= HEN
108.4.10 |=MAX %u*ﬂ;ﬁ(%(\)ﬁ)mlx24ﬁﬁ)
/X == "~/ ITTFA L=
e\
108.4.12 |H AR E%(12kg)
108.4.12 |/h#FZBIOVERTEE EIK1E(2309)
108.4.17 |ES=IOK H>R(30kq)
1084.24 |EBELZEFE B 84(12kqg)
HEABA)
1= & 545 (6000)
108.4.30 (&N =4S 2 9% (4009)
AFE P (2.4kg)
24#5(600Q)
YN
. B AN
108.4.30 [|BSEX = g
EME
108.5.7 =& E= 5t (120ml)
108.5.7 2] $L8(350ml)
S REEFE=
108.5.7 Eapiig= =58 (5m))

FA4H HENH

Si#53#% /(7009)




108.5.7

IBREE (A

RIS

PREAR
=R (400)

V22225 (15Q)

108.5.7

AEABAX6ER)

Y9 £ (500g)

EM(121%)

At an(1000ik)

75%;B15(400ml)

108.5.9

=551 (6000)

108.5.15

F2K(30kg)

108.5.27

HEIEAS D

EHESZES

AAL(800g)

75 22%1(5109)

R16%E(200x)

BHE(B5gx6A)

BEMABA)

7 Jil

%5(125g)

75%815(500ml)

BEMQLAx4LR)

108.6.3

FR1Z AX

B HEEE (5gm)

108.6.3

CEEZF

w5 23,5 (300)

REZLE(25gm)

108.6.3

= MR PP BREX

I

=70 5 b i (3308k)

106.6.12

FRFER1F

EIRE AR

Vi)

Vi

AABAPR TS

[0 R el 128

KRER

i 15

Mt

108.6.12

= /R (409)

YIEZ(509)

B HZEEE (5gm)

108.6.12

EhLE=(19")

FESH HENH




108.6.12

IBIEE (B 1)

BREAS
Ehk=E=(19")

108.6.17

¥ (7500)

AFEF (700)

7 Jil

= = ik (3kg)

7 (6009)

108.6.17

FoK(30kg)

108.6.28

500

N951=(50A)

A At an (300#1)

/NERFT#3(1000g)

BIREAMOGA)

FEBA)

FHE(6000)

HAAMN(B0/ x128)

75%815(500ml)

108.7.4

At
il
K

933 (1.4kqg)

FE(120q9)

SEWIB(1000g)

/\EEFT#)(1000g)

£mM(415)

A& (600ml)

ZE(909g)

75%;B15(500ml)

S (500ml)

EREAMGA)

#AM(80/ x36])

108.7.4

ARt
il
K

I fEAR#E(100A)

(I x10A)

N95[0=(20A)

= T (250%k)

RE(20A)

BE(IOA)

fm e AE 1 an (60#1)

RME(1gx30A)

FOoH HLNH




BIEE (EN) BEAR
e ik
108.7.8 ZL0ALT Rem=E=(19")
ks
__ H=(60A)
108.7.12 |5REX FE(175q)
HNIEH 1%
BEEK
ZEKEL
FE(150gx2A)
S| Z= A = (50A)
108.7.15 1515 AV
BE 46 B
/%T*El/)%/inm”(].S()gxél-/\)
108.7.16 |%Z#kE E(50A)
108.7.16 |#M1ALE =(50A)
108.7.18 | =POEk H2>K(30kg)
108.8.1 MR STE FE(160gx3A)
108.8.6 TEN KEROGAT)
=H7K(3.8L)
108.8.6 gl BEER(14")
miE
108.8.12 |BzxES H2K(3.5kg)
108.8.13 |[EO AT P20 1
108.8.15 |EXE el
VeI B 2T B (3009)
ZE(130q9)
108.8.16 |sRImMH: ~ sRIUIA & U5 (200%%)
1&%&%@ (8.50)
& U 5T (960%k)
108.8.20 |@mBiE - B1&HT E+(3k9)
108.8.22 |H=MOEK H°K(30kg)
108.8.28 |MEVAABRLCZSHNEESE |REENKA0AX5E)

FITH H£NH




BiEE(EN) BEAR
$E SRR £
108.9.2  |mAttfpe S (1.58L)
it
FAEI(K)
108.9.5 SESFEmBRAT %0 EI(F)
FAEI(/)\)
108.9.9 INGE B IVNBERTEE EOKTE(2309)
108.9.10 |3EAK ZLBFE(L100A)
\ 2, BFE(LI00A)
108.9.10 |EEMHE VCEE (100
108.9.10 |#B=315 PVCEFZE(L100A)
L 2, BFE(L100A)
108.9.10 |zfPi VCEE(LI00A)
108.9.10 |#ifE PVCEFZE(L100A)
1089.10 |E¥5 PVCEFZE(L100A)
1089.10 |EuR PVCEFZE(L100A)
1089.10 |BWZ PVCEFE(L100A)
108.9.10 |EEE PVCEFZE(L100A)
108.9.10 |gaits PVCEFE(L100A)
108.9.10 |EREEMP PVCEZE(L100A)
108.9.10 |&&kA PVCEZE(M.100A)
1089.10 |EiFH 2, BFE(L1I00A)
108.9.10 |==:& PVCEFZE(L100A)
FLBFE(L100A)
1089.10 =M AL 2 BFE(M.100A)
PVCEFZE(M.100A)
108.9.12 [RZRIRIR MEERNE(28GM)
BB (90ml)
s BHEOR (100ml)
108.9.13 |TEEst S ER(120m)
BB (180ml)
108.9.16 |@EitaE = [7K(3600ml)
108.9.16  |3EHM: PVCFE(L100A)

PVCFE(M.100A)

FE8H IHENH




IBIE & (BB 1) PREAR
108.9.16 |REME A+ OZ(50A)
108.9.16 |SEEFKIRKE OZ(50A)
108.9.17 |EMAL & $8(30cm)
WTEIZEENE (28GM)
108.9.18 |#RRRiE T E$8(32cm)
HIIR L (R .50/T)
1089.19 |=ER& RE
108.9.23 |E 204k H>K(30kg)
108.9.24 |SHEEFERKBER BEEE A
108.9.26 |BxEESR KR
108.9.30 [Fang Yeh IR B =3
108.10.1 |E£FIX B2 ik (3kg)
108.10.1 |EEFE RE
108.10.14 |ZRKEF B $5(1208%)
1= RE §5(120%%)
108.10.14 |23 SEARM(80 R x1260)
1= 15 55 (60%kE)
108.10.14 [(xB=E RE
K EE &=
BEARRLAN)
BELHRDA2AN)
108.10.14 |EMOAT 45 (2.4kg)
#ZAM(B80/R x128))
BEAR(DLOAN)
M#5(2.2kg)
108.10.17 |Ehest PRl sE B (B + )
108.10.17 |BEER{ 6ME T
e et B A FEM24AX3A)
108.10.18 |EZEHA (I8) AT = £ K(3000m])
108.10.18 |#M{f= A RLAZE(10009)
108.10.18 |RFEZF YERIS(4000ml)
108.10.18 |FxEE{Z Ei=VEAUE oy
108.10.18 |[Z=&4= 6MEET
108.10.19 |2B= SEWIRS(1000mIx 15 A)

FOH HENH




IEEEE () BEREANS
= KE 8 (350mlx243F)
IR L §5(120%%)
108.10.19 |EHEMEXERFERELS R
ERT
N EM(2259)
108.10.19 |spEEs %L;rﬁ(600m|x3)\)
108.10.22 |& =Mk R (30kg)
108.10.22 |EEX 1 (1.4kg)
108.10.22 |&EEF tt)}+n(14|<g)
108.10.22 |RF% 1 (1.4kg)
108.10.22 |Z%=8 tt)}+n(14|<g)
108.10.22 |&Zxi3H 1 (1.4kg)
108.10.22 |#i5HE tt)}+n(14|<g)
108.10.22 |LEE 45 (1.4kg)
108.10.24 |MEE M A (3000m)
145 (7509)
108.10.25 |&~7#E iiREt. LEe:y #3(36gx 12 A)
B (600ml)
R en#a~as (502)
108.11.13 |F&EER{— BB ERs
B#82(908Q)
108.11.26 |[REE #2582 (1.13kg)
1572 71(5009)
i
1081128 |REBERSAERAS ﬁggj‘\;
108.11.28 |E=PO#k HoK(30kg)
108.12.5 |RABREEE 145 (1.6kq)
108.12.6 |FxRER{Z VATl
75%;3E#5(500ml)
FRIGA)
o ARPR#E(XL)
108.12.6 |&33H0 =
BEA(6T)

FI0H H0NH




BREE (BN BREAS

ZRomiE
108.12.19 |KIi & RAM(BOA)
108.12.19 |/RIEX RAM(80A)
108.12.24 /Mg ELWERACE EK1E(2309)
108.12.27 |& =K H>K(30kg)

FINH H2NH



™

fifl
bl

@ ;

™

™

™

@

bl

d

@

™

s

d

@

20

15 |7k

10

12 | %8

53 |58

13

12 |#h

D H

E12H



|00 |OY| OO

=
AN

(oW NP

==
N[O

(00]

=
N

A

#H

AO) | (O | (2 | By | (9| Bob | A |k | BOD | B9 | | e | (0

13 H 4t

H
il



[

™

d

d

@

d

@

(i

#H

#H
#H
#H
#H
(i
(i
(i

(i

(i
T+

#H
#H
#H
s

s

10 |58
22 |

10 |

50
##

19

10 |4

15 |4

31 |%&

80 [kg

D H

E14H



F=
E8S
2 (6 o | con | o | o | 3| | o | | o | o

5 Y xaxd

o
S
(O | B0 | ok | s | i |

=
(SN
i

B | B |

7N

e
i [ 29

E[l\]?

=H<
&

Nl |Inn[fwlw|RR] -
B
T

Sl
Fer

FISH H20H



2 |I%
2 |1k
4 |#
3 |
10 |&
5 |
4 | i
25 |
8 %
12 |8
12 |8
3 |8
24 |78
8 |&=
#H#H |2
4 |7
48 |7l
4 |8
10 |1
3 |%
3 |IF
3 |iE
1 |4
1 |5&
1 |5&
1 |5&
1 |8
1 |5&
1 |8
1 |&
10 |15
10 |1
10 |15
1 |&

%16 H > 4t

H
il



HE

S

10 |=

10 |
#it

12 |
36
20
#it

60 |fE
36 |
64 ¥]
80
11
48 |7k
20 | i
30 |15
60 |#f
60
30
30 |1
## |
##
##

D H

E1TH



HE

Jil

40

Jil

(i

#

#H

#

#H

(i

{i

i |:

i

40

@

40

40

{8

i

il

@

2|

24 |#k

10 |#H

48 | =

20
10

12

11 |75

50 |
20

10 |>

18

22

60

D H

I8 H



H=E
30 |{&]

{i

(i

{i

(i

{i

(i

{i

(i

{i

i

{i

i

{i

{8

(i

{8

(i

{8

(i

P

il
fifl
il
fifl

(i

(i

18 |#h

67 |38
40 |78

90 | ¥
60 |fE

20
10
10

12
18

20

20

30
27

20 |

12 |#h

D H

E19H



i
il

(@)
af | )| 3% | K | B | B

B | e | e | 0 | e | i | i | OO | 3 | =5

N
=N
o

= ro
00

< S
=5 |3

)
o
=

N
~
é]:l:l

W
AN
mun|

N
=N
o

3

N
SH
i}

F0H FENHE



It

RlR[{R[=
o|lo|o|o

COIN(N|R [ ]U[0o]| U
Ei
i

|_\
N
E
T

N

o

00| e | & | 5 | 23 | By | Bob | Bop | &= | 00| OD

R[{O|o(UUI|ARIFR|IWINININIFR[OY|UV|WO

~
N

~
N

3+ [N
H

0o
o

F2H HENH



HE

@

d

12
12

50 | i

D H

ENH



